Treatment Strategy and Treatment Effect
A Treatment Strategy is applied to an individual, and then an outcome assessment is made.  We think of the individual’s outcome as being composed of a component due to the treatment plus some other effects.

Outcome = Treatment effect + other effects

When we combine the results for a group of subjects, we regard the average outcome for the group as the sum of an average treatment effect plus other effects. If subjects were randomly assigned to treatment strategies, we have justification for treating these “other effect” as random, and we can then apply statistical techniques based on that assumption of randomness.
The idea behind an experiment is to vary one or a small number of factors while holding the others constant. 
In a parallel trial, subjects are assigned to one of several treatment strategies, and the average results of the subjects assigned to the different treatment strategies will be

Outcome1 = TreatmentEffect1 + error1

Outcome2 = TreatmentEffect2 + error2

Etc.

Because of the error terms for each group, we can’t calculate the difference between treatment effects exactly, but Outcome1 – Outcome2 is an estimate of the difference between the treatments (TreatmentEffect1 - TreatmentEffect2).  
In a crossover trial, subjects are assigned to receive different treatment strategies in different epochs of the trial.  For instance, in a two-period crossover, subjects will be randomized to TreatmentStrategy1 in Epoch1, TreatmentStrategy2 in Epoch2 (ArmA) or TreatmentStrategy2 in Epoch1, TreatmentStrategy1 in Epoch2 (ArmB).  Outcomes will be measured in each Study Cell (arm/epoch combination).

Outcome11 = TreatmentEffect1 + EpochEffect1 + Interaction11 + Error

Outcome12 = TreatmentEffect1 + EpochEffect2 + Interaction12 + Error
Outcome21 = TreatmentEffect2 + EpochEffect1 + Interaction21 + Error

Outcome22 = TreatmentEffect2 + EpochEffect2 + Interaction22 + Error

The interaction terms are there because it could be that treatment effects are for some reason fundamentally different when given in different epochs (e.g., Treatment 1 produces a lasting change in subjects which means that Treatment 2 has a different effect when given after Treatment 1 than it does when given first).  However, you wouldn’t do a crossover trial if you thought there were interactions, so you assume the interaction terms are zero (after checking with a test) and then you can estimate the difference between TreatmentEffect1 and TreatmentEffect2, which is what you really care about.  
In a factorial trial, subjects receive a combination of two or more kinds of treatment strategies at the same time.  For a 2x2 factorial design, there are four arms (2 treatment strategies of type A times 2 treatment strategies of type B) and the equations for the outcomes are

Outcome11 = ATreatmentEffect1 + BTreatmentEffect1 + Interaction11 + Error

Outcome12 = ATreatmentEffect1 + BTreatmentEffect2 + Interaction12 + Error

Outcome21 = ATreatmentEffect2 + BTreatmentEffect1 + Interaction21 + Error

Outcome22 = ATreatmentEffect2 + BTreatmentEffect2 + Interaction22 + Error

If testing confirms that interaction terms can be treated as being zero, you can estimate the difference between ATreatmentEffect1 and ATreatmentEffect2 and the difference between BTreatmentEffect1 and BTreatmentEffect2.

All these experimental designs are ways to gather data to compare the effects of treatment strategies.  When the experiment is executed, the outcomes observed for different study cells are used to estimate differences in treatment effects and the related statistics which are used in hypothesis tests.
